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3.1

3.1 y="1(xX) X
AX=X—-Xq Ay = f(Xo+AX)— f(Xp)
Ay - f (Xg+AX) = f(Xg)

lim —==1i = f'(x
AX—>0AX  Ax—0 AX ( O)

/(x,) = lim )= (%)
AX—0 X — XO
f'(Xo)
Af (Xo)
AX
A=1'(Xg) a(Ax) AXx—0
AF (Xg) = T'(Xp)AX + a(AX) - AX
f(xX)=f(Xy)+ F'(Xg)AX+ S(AX)
L(AX) = a(AX)-AX AXx — 0

= A+ a(AX).
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o)t T C0ta(80) - 100)
AX—0 o (AX)

lim Ay _ lim f (Xg+AX) — f(Xp)

AX—0" AX  Ax—0" AX
f(X) Xg f'(Xp)
Ay f(Xg+AX) — T(Xp)

lim — = |im
AX—>0" AX  Ax—0° AX

f(x) Xg fi(Xg)
F(X) X F(X) Xo
f'(b)=f/(a)
f(X) [a,b] f(x) (a,b)
f/ (@) f'(b)

3.1

lim x[sinIn(1+ §) —sin In(1+l)] =
X—>00 X X

[=—
X
Iimsin In(1+ 3t) —sinIn(1+1)
t—0 t
=[sinIn(1+3t) —sinIn(@+1)] |,._g=2
3.2 f’(a) =K
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f(a+t)— f(a)

t

f (x)

lim h(f(a——)— f(a)j
h—+o0
A _k B k C 0 D
lim h(f(a——)— f(a)j
h—+o0
f(a——)— f(a)
— _ lim h = — lim
h—+o0 _1 t—0"
h
=-fl(a)=-1'(a) =k
rxarctani X >0
3.3 f(X)=< & :
g(es'”x—l), X <0
f(x) F'(x)
f(x) x=0
Xx=0
xarctan1
f'(0)= lim &:—
x—0" X 2
smx
) =" lim & “1_7 (0
X—0" 2
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f(x) x=0
f(x) (—o0,+00)

.2

1
arctan — x>0
X 2(x+1)
T
f'(x)=<—, X=0
(x) ;
ﬂcgsxesinx’ X<O

limf'(x)="=1'(0) f'(x) x=0
X—0 2

£1(x)

e f(0)=0 f(x) x=0

.1 1 h
» lim— f (1—-cosh » lm—f(1—e
()h—>0h2 ( ) ()h—>0 ( )

1.1
o lIm— f(h o IIm=[f (2h) - f (h
()h—>0h2 ( )()h—>0h[ (2h) = f(h)]
®  ®
_ _hyq_ Ah
Iimf(l e )l-e

h—0 1—eh h

_Ahy N
i TN =) 1
h—0 1—e h—0
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1-e" . -h

=|im -1

lim
h—0

. f@-eM-1(0)
lim - a(h)=1-e" «a(h)

f'(0)
J— h J—
jim 3= =10 _ )
h—0 1—e
A h—0 h2 —)O+ ©)
1,3
lim— f(h”) =
h—0 h2 (")
1 .,3 . h%
=lim— f(h”)-Iim—
h—>0h3 ( )h—>0 h2
.1 3
=lim— f(h”)-0
h—)Oh3 ( )
|imif(h3)
h—)0h3 © ®
f(0)

lim%[(f(Zh)— 1(0)) = (1 (h)-1(0))]

h—0
lim )i 1)
h—-0 h h—0 h

®
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(1—cos <50
a5 F(X)=< /x g(x) f(x)

x“g(x) x<0
X=0 D
A) (B)
© (0))

x=0
1—COS X X2

lim f(x)= lim = lim —=0

X—0" X—0" \& X—0" 2\&
lim f(x)= lim x°g(x)=0¢ g(x) >

Xx—=0" Xx—0"

lim f(x)=f(0)=0 f(x) x=0

Xx—0
Xx=0
lim = TO) i xg(x) = 0
Xx—0 X Xx—0
i £()=1(0)
Xx—0" X
2
— im 27998 X _im X g

X—0" X-«& Xx—0" 2)(3/2 B
f/(0) f'(0)
f(x) x=0 f'(0)=0

@)
3.1 2
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1 F(X) Xg f(x) Xg
Xo Xg

2 f(x) f'(0)>0
xe(0,0) f(x)> f(0)
f(x) < f(0)

£0) = lim - =10 _

x>0 X-=0
o>0 X € (-0,0)
f(x)—f(O)>O
X—0
f(x)—f(0) «

f(x)

o>0
X € (—0,0)

X € (0,0)

X € (0, 0)

f(x)> f(0) x e (=5,0) f(x)< f(0)

3.6 f '(0) ‘ f (O)‘ <1,

1
lim(+ 17008 Tys o
Xx—0 SIN X

w0 ol oJV2 o-e

G o limaetT st
X—0 SIN X

x—>0 ,

lim L i@+ 12608 Ty
Xx—0 X SIN X

1
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"ml.l—cc_)sf(x):1

X—0 X SIN X
<1 limf()=0=f(0)

i1 1= cos f () 1 f2(x)_1
x—0 X sin X 2x—>0 x 2 '
( )
f'(0)

[£/O)12 = tim ) jim T _ 5
Xx—>0 X Xx—>0 X

f'(0)=+2
3.7 f(x) x=0 x=0  F(X)=0
1
f(0)=0,f'(0)=2  lim@-2f(x))sinx
X—0
<17 £'(0) = 2
1 -2f(x)

1
lim (1-2f ()" = lim (12 (x)) 2f(x) sinx

x—0

lim =210 _ iy 22700 X
x—0 SIN X X—0 X SIN X
£(0)=0, f'(0) =2

lim =21 _ _orim T =T O rim X5
x—0 SIn X X—0 X x—>0SIN X
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=-2f'(0)=—-4
1
lim@—2f (x))sinx =¢™*

Xx—0

3.2

3.2.1

f(x) X
Af (Xg) = T (Xg + AX) — T(Xg)
f(Xg +AX)— f(Xg) = T'(Xg) - AX+ a(AX) - AX

a(AX) AX—0 B(AX) = a(AX) - AX
L(AX) AX
f(x) = f(x0) = f'(X)AX + B(AX)
3.3 y="1(X) X A
Ay Ay = AAX + 0(AX)
A AX 0(AX) Ax—0
y="1(X) X dy|, =AAx=df (Xp)

df =dy=y'dx = f'(x)dx

3.2.2

3.4 y=1(x)
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Ay
y X . f(Xg+AX)— f(Xg) X

A'X‘TOFA:;ALO Ax =y T
y X
Q=f(P) P
Ed=§f'(P)
1P p
R = PQ = Pf (P)
f(x),g(x) x ( ) X

[FO)E£g0)] = F'(x) £g'(x)

FOAgO] = £(x)g(x) + F(x)g'(x)
1:(X)] _ (X)g(X)— fF(x)g'(x)

“9(x) g°(x)

o(T(x) £ g(x))=df (X) +dg(x)

«  (1()g(x))=1(x)d g(x)+g(x)d f(x)
o(cf(x))=cdf(x) «¢ )

d(f(X)j _g(x)d f (X) — f(x)dg(x)
g(x) g (X)
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[T() +9(x)+h(x)]'= T'(x)+g'(x) + h('x)

[T ()g)h()]

= ' (x)g()h(x) + f (x)g'(x)h(x) + T (x)g(x)h’'(x)
2.9 Y =Y(X) X € (—00,+00)

T

Ay = yzAx+o(Ax) y() =re?
1+ X

y(v3)=re?

X € (—00,+00) f(x) (—o0,4+0)

, Yy dy dx

1+x% Y 1+4%P

Iny =arctanx+InC y=Ce?clanx

yO)=ze* C=x

T

y:7Zearctanx y(«/§)=7Z63
3.9 (2004-2-16 f (X) (— OO,-I—OO) [0,2]

f(x)=x(x*-4,  +  f(x)=kf(x+2) kK

L (%) [-2.0)

2 k f(x) x=0

@ —2<Xx<0 0<x+2<?2
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f',(0)= lim F)=F0)_ i 4 2‘4):—4,
X—0 X—0 X—0" X
£ (0)= lim 1 X)=f(0)
X—0 X—0
ZIHnKHX+2Xx+4):8k
£0)=1.0  k=-> f(x) x=0

y=1(x) y'(X) [F00T

d?y d*f
.I:!X! :fX ”,f”X,
[F'()] y=f(x) y ()dx2 v
f ("D (x) f(x) n
n n
(M §(y 9y d°F
Y ) dx"  dx"
n
f(n)(X)z lim f(n_l)(X+AX)_f(n_l)(X)

AX—0 AX
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3.10 y=e™(1 )
y'::ﬂeﬂx, y”::ﬂ?eﬂx,u-,
y(n) _ ﬂne}tx

3.1 y =sinx

y'=C0SX = sin(x+%)

y" = cos(x + zj = sin(x + sz
2 2

y(W =sin(x + ng)

F(x) g(x) :
F) g(x) o
[F(x)g()I™ = 3 k00 (x)g® (x)
k=0
ck _ n! _n(n—l)-~(n—k+1)
" (n=k)k! k!

FOx =1 g?x=g(x)

3.12 Y = X2 SIN X 100

X n>3
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y 00 = %2 (sin x) % 4 100(x?)'(sin x) ¥

100 x99
2!

L 07[) + 200xsin(x + 95977;)

+100 x 99sin(x +9877[j

(x*)"(sin x)®)

X2 sin(x+

— x? sin X — 200X cos X — 9900sin X
1

X" —a’

o[ ote] )]
Y x2 _ g2 |2alx—a x+a
_ 1 (-)"'n  (-1)"n!
2a (X_a)n+1 (X_|_a)n+l

1 1
_( 1) 2a|:(X a)ﬂ-l—l (X+a)n-|—1i|

sa T (X) = In(2 —3X) 10

n

3.3 Y =
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~39% .10 310 .91

(B

A)
2-3x)°  (2-3x)%

310101 _30 .0
Y 2-3x0)° 7 (2-3x%)Y
() -1 19 3
du ,
sz U=@(X) d—=¢(><);y= f (u)
X
dy .,
u(u = (x)) o f'(u) y = flp(X)]
d dy du , , ,
Y- 101y = /(u)- ¢'(X)
dx du dx
1
arctan—
3.15 y=a X
y =In(x++/x% +1)
arctanl arctanl 1 _9
(a XY =a XIna > (=X7)
1+ X
_ Ina aarctan)l(

1+ x2
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| VX2 +1)] = L 1 L,
G+l x+m“zm ¥

1
VX% +1

3.16 y = XSinX (X > O)

( D
Iny =sinxInx

1 sin X
—y'=cosxInx+——

y X

sin
y' =X Smxknsxh1x+———q
X

y =u(x)"™

sin X sin xInx
') y=X = e

3.17 2004-4-02

e2x

y =arctane” —In.|—
e”” +1

e—1

dy,  _
=1 e’ +1

dx|x
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y = arctane” — x +%In(e2x +1)

ex eZX
= -1+
g 1+e% e?* +1
2
Y ez_l+ 2e :ez_l
dXly.1 1+e€ e“+1 e +1
( )
y = f(u) u y = f(u)
dy = f'(u)du
: u X u=g¢(x) y="tlp(x)]
dy ={f[e(x)]}dx= f'(u)p'(x)dx = f'(u)du
u y=T1(u)
y =Y(X) F(x,y)=0
F(x y(x))=0 v

"

s XCAXY+Yi =4 y
X2+ Xy +y° =4 y = y(x)

X%+ xy(X) + y2(x) =4
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X
2X+Yy+xy'+2yy' =0
,_ 2X+Y

X+2Y

X
24y +y +xy"+2(y)* +2yy" =0

" 2 | 2y' | (y’)2
y _—
X+2y

!

y
. B(X°Hxy+ys) -24
(x+2y)° (x+2y)°

30 Y = Y(X) XY+ Iny =1 y = y(X)
x=1

x=1 y+Iny=1 y=1

! 1 !
ny""y'"yyx =0

x=1y=1 2y} x1+1=0

, 1
Yx|x=1=—7% y= Y(X) (1,1) k=2

2
y—1=2(x-1)
y=2x-1

3.6
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3.3 ( ) x=0(y) go’(y)io
y =T1(x)
f —
0= )
y=f(x)
F) =2, f'(1) = -~
3.20  f(x) 9(x) — & - ﬁ
f"(1) =1
f(1-x)— (1)

) g”(Z) ) lim
X—0

1o 9(x) (x)
g(x) g(y) y=1(x)
F'(x)g'(y) =1
X F'(x)g'(y)+ £'(x)9"(y)yx =0.

009’ (y) +[F'(01°9"(y) =0

2X

X=1 y—2

0'(2) = (1) =3

9"(2) =33

o lim &= =T :-11“(1):@ ®
x—0 2X 2 6
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2.4 ( y X=X({t),y=y),teT

p'(t) =0
{x = X(t),
y =y(b),

dy _yr _y'(t)

dx xi  X'(t)

2 "
d7y _ y'(®)

teT

dx?  x"(t)
d?y _ d iy _ Y OXO-yOx' 1
dx® dt x| [X'(1)]° X'(t)
_y'(O)x'(t) - y'(O)x"(t)
[X' )]
X =a(t—sint),
o y = a(l—cost),
="
2
dy _Yt_ asint _ sint (t % 2k7)
dx x; a(-cost) 1-cost
=7
2
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dy
dx

_sint
t:’; 1—cost

=7

2
3.2 X=acost,y=bsint y;
. bcost b
Y, = yf =~ =——cott
X{ —asint a
b
r \/ __‘44’(:()t.t '
yn _ (yx)t :( a )
X (acost)’
b 1

_asin?t_ b 1
—asint  a?sin’t

x—1
33 f(X)=—— 0.
X+3

f(x)

x—1_x+3—4:1 4

X+3  X+3 X+3

f(x) =
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1 Ol
4. (-DH . f(10)( 5)_4 9l 95
(Xx+3) ot 2
3.4 0>0 f(X) [—5,5] f(O)Zl
lim In(1— x) +25|nx- f(x)
X—0 eX —1
sinx- f(Xx)—sinx

19 (x) =

=0,

1 [im ”
X—0 eX —1

2 f(x) x=0 f'(0)
[ 1] l_ 1 _
lim sin X - fo)—smx _ lim f(x)-1
X—0 eX 1 Xx—0 X
lim In(1— x) +23|nx- f(x)
X—0 eX -1
In(1— X) + x+sinx- f(x)—x
2

= lim
Xx—0 X
. In—-x)+x ..

= lim ( ) + lim
X—0 X2 Xx—0 X

-1

: 1—x+ Sin X ()_mnx

= |lim + Im—-1Im
x—0 2X x—=0 X x=0 X

sinx- f(X)—x
2

F(X)-1+1—
sin X -0

= |lim + lim
x>02—2X x—0 X
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X

1- "
_lim o fim =L i sinxg
x>02—2X x—=0 X x—0 X
=Ly im T2, SIN XX
Xx—0 X x—0 XSIN X

1 f(x)-1 X

==+ lim +lim&__
x>0 X = x50 x?

_ L im T0=10) 5y

2 x—0 X

i 10— 1(0)

Xx—0 X

i F0-1(0) _1
x—0 X 2
0= lim In(1— x) +25|n X f(X)

X—0 ex -1
:”m—x+x2-f(x)

Xx—0 X
~1im T =1 g

Xx—0 X

. sinx- f(x)—sinx
lim > =
Xx—0 eX 1

0
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2
lim In(1— x) +23|n X- f(x)
X—0 eX -1

IV +0(x?)+sin x- f(x)

: 2
= I 2
00 2
lim f(x)-1_ lim fx)-1(0) _1
x—>0 X x—0 X 2
f(x) x=0
f'(0)=tim X1 _1
X—0 X 2
o Y = Y(X) y"+ py’+qy =e>
y(0)=y'(0)=0
2
<50 In(1+ x°)
y(X)
Q)] ® 1

) ©) 2 (D) 3
InL+x%) .. x?
( ) = lim

[ ] lim —
x—>0  Y(X) x—0 Y (X)
. 2X . 2 2
=lim ———=lim =—=

x>0 y'(X) x->0y"(x) 1
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